Read the passage below and answer the questions that follow.

PASSAGE

Advances in technology which is used broadly here to mean the application of knowledge to an activity offer, at least, a partial way out of our predicament.  In most cases, “appropriate” technologies will no longer be engineering schemes, techniques, or methods that enable us to claim more of nature’s resources but, instead, systems that allow us to benefit more from the resources we already have.  As long as the resulting gains are directed toward bettering the environment and the lives of the less fortunate instead of toward increased consumption by the rich, such efforts will reduce human impacts on the earth.

The power of technology to help meet human needs was a critical missing piece in the world-view of Thomas Malthus, the English curate whose famous 1798 essay postulated that the growth of human population would outstrip the earth’s food-producing capabilities.  His prediction was a dire one-massive famine, diseases, and death.  But a stream of agricultural advances combined with the productivity leaps of the Industrial Revolution made the Mathusian nightmare fade for much of the world.

Without question, technological advances have steadily enhanced our capacity to raise living standards.  They not only helped to boost food production – the main concern of mothers – they also increased our access to sources of water, energy, timber and minerals.

As a society, however, we have failed to discriminate between technologies that meet our needs in a sustainable way and those that harm the earth.  We have largely let the market dictate which technologies move forward, without adjusting for its failure to take proper account of environmental damages.  Now that we have exceeded the Planet’s carrying capacity and are rapidly running down its natural capital, such a correction is urgently needed.

In the area of food supply, it remains an open question whether technological advances will continue to raise crop yields fast enough to meet rising demand, and whether such gains will be sustainable.  Given the extent of cropland and rangeland degradation and the slowdown in irrigation expansion, it may be difficult to sustain the past pace of yield increases.  Indeed, per capital grain production in 1992 was 7 percent lower than the historic peak in 1984.  Whether this is a short term phenomenon or the onset of a longer-term trend will depend  on what new crop varieties and technologies reach farmer’s field and whether they can overcome the yield-suppressing effect of environmental degradation.  Another factor is whether agricultural policies and prices will encourage farmers to invest in raising land productivity further.

In many agricultural regions-including northern China, parts of India, Mexico, the Western United States, and much of the Middle East-water may be more of a constrain t to future food production than land, crop yield potential, or most other factors.  Developing and distributing technologies and practices that improve water management is critical to sustaining the food production capability we now have, much less to increasing it for the future.

Matching the need for sustainable gains in land and water productivity is the need for improvements in the efficiency of wood use and reductions in wood and paper waste, in order to reduce pressures on forests and woodlands.  A beneficial timber technology is no longer one that improves logging efficiency – the number of trees cut per hour – but rather one that makes each log harvested go further.  Raising the efficiency of forest product manufacturing in the United States, the world’s largest wood consumer, roughly to Japanese levels would reduce timber needs by about one-fourth, for instance.  Together, available methods of reducing water, increasing manufacturing efficiency, and recycling more paper could cut U.S. wood consumption in half;  a serious effort to produce new wood-saving techniques would reduce it even more.

(Extracted from Finsterbusch Kurf’s essay on Environment and society. “Sociology” 96/97 pages 209-210) 

Questions

1.A suitable title for the passage is

*(a)  redirecting technology    (b) wood management

(c)harvesting techniques     (d)  foreign agriculture

2.According to the passage, technological advances:

(a)raise crop yields             *(b)  raise living standard and harm the earth

(c)cause industrial revolution    (d)  reduce human impact on earth

3.For sustainable yields ----------------must withstand challenges

(a)crop varieties and policies    (b) farmers and technologies

©farmers and crop yields        (d) farmers and crop varieties.

4.Wood-saving policy is gaining popularity globally.

*(a)  True    (b) False    (c) True and false    (d) Not entirely.

5.The writer is of the opinion that:

(a)Technology will increase waste

*(b)Technological advances must protect the earth

©Technological advances must destroy the wastes

Recycling will adversely affect the earth.

6.In which paragraph are the two sentences that summarise the advantages of technological advances to food supply?

(a)Paragraph 4      *(b) Paragraph 5    (c) Paragraph 6    (d) Paragraph 3

7.The passage is an example of ---------------------

(a)an illustration    (b) a narration    *(c) an exposition    (d) an argumentation

8.The actual writing stage is carried out under ------------------

(a)speaking publicly    (b) listening    *(c) writing correspondences    

(d) reading skills.

9.One of the basic requirements of writing is ------------------------

(a)proofreading    (b) cementing    (c) reviewing    *(d) crafting

10.A paragraph must have-----------------

(a) a concrete statement   *(b)  a Thesis statement    (c) active words

(d)passive statements

Choose the best options to fill the gaps below.

11.The armed robber removed the pistol from the-------before shooting the man.

*(a)holster    (b) wallet    (c) sack    (d) case

12.The ---------was torn, so the sword cut the hunter

(a)hogshead    (b) bag    (c) case    *(d) scabbard

13.When she got the road, she got a free-------

(a)lift    (b)help    *(c) ride    (d) drive

14.Skating is to -------as swimming is to water

(a)berg    *(b) ice    (c) sea     (d) vapour

15.Arm is to elbow as door is to --------

(a)knob    (b) frame    (c) post    *(d) hinge

Choose the option that best conveys the meaning of the underlined portion in each of the following sentences:

16.In the match against the uplanders team, the submariners turned out to be the dark 

horse.

(a)played most brilliantly     (b) played below their usual form.

*(c)won unexpectedly     (d) lost as expected

17.Only the small fry get punished for such social misdemeanours

(a)small boys     *(b) unimportant people    (c) frightened people

(d)frivolous people

18.He spoke with his heart in his mouth

(a)courageously    (b) with such unusual cowardice

(c)with a lot of confusion in his speech    *(d) with fright and agitation

19.This bill has to wait as we are now insolvent.

(a)overworked    *(b) bankrupt    (c) unsettled    (d) affluent

Imagine this to be the conclusion to an outline that you have made.  Fill the numbered  blank spaces with the appropriate lexical items.

“In addition for further reading as vital arm of referencing, the use of the dictionary in language learning should be emphasized.  It cannot be denied that dictionaries do supply facts about a language which may be difficult to find anywhere else; 20 about grammar, usage, status, derivation, and so on necessary for comprehension are outlined in the dictionary, while context, word analysis and synonym search contribute immensely to the 21 of meaning.  That efficient use of the dictionary helps to enrich the conceptual and experiential background to create a meaning context cannot be denied.  The 22 of both the specialist and general dictionaries should be encouraged as the case may be.  Not that students should jeopardize reading fluency by 23 every word that they do not understand, rather in that bids to read chunks or groups of words in a text, lexical items that 24 obstruct meaning may be quickly checked up in a dictionary.  Glossing over a word or lexical guessing through context may not be sufficient 25 to encourage the use of the dictionary as an aid to reading, and a tool for checking the words used in writing must be well built 26 the reading fast.  The skill can be easily transferred to the student’s content areas as well.  A barrage of criticism, like student’s excessive reliance on the dictionary instead of contextual 27 reduction in the speed, time wastage, and so one abound against student’s use of the dictionary when reading.  It may however be argued that 28 students to guess the meaning of words from context and then compare this with dictionary entry for such words is a discovery 29 for enlarging the conceptual environment and vision of students on the various interpretations that may be given a word.

OPTIONS

       A                             B                              C                     D                                                      

20      information                   words     details*                  knowledge

21     forming *                     gotting     knowing          creation

22     possession                     fact     use*          employment

23     considering*                  pondering     meditating            looking up

24     may                               will     can                       shall*

25     practice*                       exercise      note                     passage

26     onto*                              in      into                     unto   

27     reading                         meaning*     decoding             guessing 

28     asking                           teaching     making                allowing*

29     procedure                     method       means                 strategy *

30.From the way my friend talks, you can see that he is such a bore

(a) rude     (b) brilliant     *(c) uninteresting     (d) humorous

Fill in the blank in each of the following sentences making use of the best of the five options.

31.The telephone -------- in the nineteenth century and is now used in most countries in the world.

(a) had been invented     *(b) was invented     (c) would have been invented

(d) has been invented.

32.By the end of this semester, he--------his university education.

*(a) would have completed     (b) will be completing     (c) shall have completed

(d)  must complete

33.The horse is a winner---------

(a)  you can take that from me      (b) you can say I say so

*c)  you can take my word for it.   (d) you may or may not believe it.

34.If we went to any European country, -------Britain, we should need a substantial amount of money to pay our way.

*(a) like       (b) let us say       (c) like say     (d)  like say

35.You should show some consideration-----the feeling of others

(a)  with        * (b) for         (c) about         (d) to

Choose the option opposite in meaning to the world underlined.

36.To most people last Christmas was an austere period.

*(a) prosperous     (b) harsh     (c) severe     (d) stern

37.Chide is naturally taciturn

(a) friendly     (b) cheerful     *(c) garrulous     (d) lively

38.He is loved for his altruism

(a)  benevolence     *(b) selfishness      (c) sincerity     (d) kindness

39.This card entitles you to attend the Glosgow.

*(a)  disqualifies     (b) discourages     (c) disenchants     (d) proclaims

40.This is an abridged edition of Oliver Twist

(a)  reprinted      *(b) enlarged     (c) outdated     (d) banned

41.Our government is making determined efforts to eradicate illiteracy

(a)  compulsory     *(b) ineffective     (c) innocent     (d) ubnreliable

42.Makarere University has a large intake of students each year.

(a)  rejection     *(b) turnout     (c ) product     (d) output

43.He accepts a mundane task without hesitation

*(a) great      (b) lowly     (c) menial     (d) moderate

44.The doctor tried to alleviate his patient’s pain

(a)  relieve     *(b) worsen     (c) kill     (d) cure

45.These two books are identical

(a)  equal     (b) similar     *(c) different     (d) alike

Select the options that best explain the information conveyed in the   sentences.

46.People may not pick flowers in this park.

(a)  people can pick flowers       (b) people may not wish to pick

*(c)  people are prohibited from picking     (D) people cannot pick flowers

47.Tom ought not to have told me.

(a)  Tom did not tell me but he should

(b)  Perhaps Tom was wrong to have told me

*(c)  Tom told me but it was wrong of him

(d)  It was necessary for Tom not to tell me.

48.Most of  the time, their presence is a menace.

(a)  Their presence is always meaningful

(b)  Their presence seldom bothers

*(c)  Their presence is frequently a threat

(d)  Their presence is usually of great concern.

49.The mills of God grind slowly, but they grind exceedingly small.

(a)  God has a mill where every material in life is thoroughly ground.

*(b)  Even though God is never in a hurry, He achieves all things.

(c)  God may seem slow in actions, but He adequately rewards every bit of      

                   injustice.

(d)  The world is a factory where God takes His time in grinding all raw materials 

       properly.

50.People are not interested in who rules.

(a)  People who are not interested in the ruled.

(b)  The rulers are not indifferent about the rulers.

*c)  People are indifferent about the rulers.

(d)  People are not ruled by the people they are interested in.

